8

5
v

4

3

NG T ONAAIT—/CNDM DEV/ AY

8 ‘ 7

i

4 ‘ 3

2

REVISIONS
NOTES: C(UNLESS DTHERWISE SPECIFIED) THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
5 SCCTION DTS Mt VARY 10 CREATE VARIOUS. DR HEIGHTS, 24 MeXMUM SECTION HEIGHT e — TR
3. MINIMUM 1* OVERLAP ON BOTH JAMBS REQUIRED 10 MEET NEGATIVE DESIGN PRESSURES, | ER | PO NEW DRAVING 0/e8/18 | EX
4, TESTED IN ACCORDANCE WITH DADE COUNTY PROTOCOLS TAS 201-94, TAS 202-94, & TAS 203-94 32442 | A PDDED IRC/IBC NOTE 8/26/20 | TLC
5. DOOR SKIN MUST BE 30,000 PSI MIN. VIELD STRENGIH , i
6. JANB LOAD CALCULATIONS: — 1* DVERLAP REQUIRED 1* DVERLAP REQUIRED -
(1/2 DOOR WIDTHXI FT OF HEIGHT)(DESIGN PRESSURE) N
(908)(1 FONTX(46,00 AND -52.00)(417 68/-472.16) LB ! 'n
7. JANB FASTENER REQUIREMENTS: DOOR JAMB
F=(1/2 DOOR WIDTHX( FT OF HEIGHTXDESIGN PRESSURE) SECTIN 58
A ‘ s TR S 2 s
8. DOOR SKIN MATERIAL SHALL BE GALVANIZED ACCORDING T ASTM A-525 TO G40 MIN, WITH BAKED-ON PRIMER, AND BAKED-ON POLYESTER PAINT TOP COAT. OOLYURETHANE FOAM THERMAL BREAK -
S, FOR ANCHORING INTO VOOD,USE ONE 5/16* LAG SCREW PER TRACK BRACKET WITH 1-1/2" EMBEDMENT INTO SOOTHERN PINE (6=0.55) TR BETTER. TN SEAL P YAMIDE — BACKER STEEL HAVING
i0. VELD SLOT ON ANGLE 3/32" X 1" LONG DN 12* CENTERS, “IF_WELDING MOUNTING OPTION IS CHISEN. ~ L BACKER STEEL HAVING
11, LIFT_ U MECHANISM-MANUAL, CHAIN LIFT, DR OPERATCR IS NOT PART DF THIS APPROVAL 900 |
12, STANDARD LIFT, HIGH LIFT, VERTICAL LIFT, AND LOW HEADRODN TRACK IS AVAILABLE, FOR LOV HEADROOM LIFT CONDITIONS TOP BRACKET SHALL BE 13 GA LHR 7/4 TOP BRACKET WITH A MIN OF 18,00 £03
() 174 - 14 X 7/8" SELF DRILLING CRINPTITE SCREWS IN LIEU OF THE BRACKET SHOWN ON DRAVING. U-BAR ON TOP SECTION SHALL BE INSTALLED ON TOP OF LHR TOP BRACKETS, |
13, SEE SHEET S FOR STRUT ATTACHMENT DETAILS, 11313 MININUM .
14, KEY LOCK, OR SIDE LOCK REQUIRED. 00 | |
15, INPACT RESISTANT GLAZING CPTION- IMPACT RESISTANT GLAZING SYSTEM NAY BE INSTALLED IN TOP [R INTERMEDIATE SECTIONS. GLAZING SHALL BE 1/4" POLYCARBONATE. FASTENED VITH # 8 1040 5o g ]
X 1" SMS, SEE DETAIL F-F ON SHEET 2 FOR ASSEMBLY DETAILS. MAXIMUM OF ONE GLAZED SECTION.
16, THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE BUILDING R STRUCTURE AND IN ACCORDANCE WITH /1
CURRENT BUILDING CODES FOR THE LOADS LISTED TN THIS DRAWING, ‘
7, A 2-1/4' X 6-3/8" X 22 GA BACKER PLATE IS T0 BE LOCATED AT EVERY CENTER HINGE. 3* X 3-3/4" X 22 GA BACKUP PLATE AT EACH END HINGE LOCATIONS. EACH IS ADHERED TO THE INTERIOR OF THE 12,0 | 000° TYP,
SECTION BACKER STEEL, P40 £03
9/16 X 1-5/8" LAG SCREW SECTION A-A -
HORIZENTAL TRACK (MIN'3 FIR FLAG ANGLD) __CABLE IRUM SHAF T TORSION SPRING COUNTERBALANCE SCALE 1 1 4
. T i \*‘v——_——'—a‘g"r—\—ﬁ——ﬁm =
E : 100 N ' - AN AR ff”
A E— s == [ 4' X 16 GA STRUT C TOP SECTION) 1
FLAG oL = | . 8‘8‘75 | OPTIONAL INPACT GLAZING m \
— ‘ T w0 L
17105 I ‘ | N 130
Y ALY ﬂ - - - B
174 - 20 STUDS WITH NOTCHED DOUBLE —F - |
1/4 = 20 HEX NUTS END CAP FIR GLAZED | - ,
SECTION ONLY — — _ = = 15 MAX OC.
> SECTION Y8 SRT L — (TP ONLY) ¢
HEIGHT = 12’ (TOP SECTION DNLY)— [ =i ISE =S
16 GA STIFFENEND = =
JAMB " BRACKET o Max 16 GAUGE ENDCAPS (8" WIDE X —{—fil= = = = o
SECTION HEIGHT ~129" HIGH)
EACH ENDCAP IS ATTACHED 10
1/4 - 20 X 9/16' TRACK — THE DOOR_SKIN WITH (2) 10 = £ .
BOLT AND 1/4 20 HEX NUT o wax  SHEET FETAL SCREWS i = o
AT EACH JANB BRACKET—_| |} 3" X 3-3/4" X 22GA INTERNAL—T— Ik _{q) [ { i)
- SIECL BACKER PLATE (CACH SE=2 = e =
- VERTICAL TRACK 12 MY END HINGE ) — — — ) 12’
SECTION A Sopnm ol |
ENDCAP DETAIL : I SIE LOCK— S = L
12" MAX ROLLER C : — 12"
5. ——h H
4 X 16GA STRUT, B — Wi (8
__ss\\\\\\‘ 2 PER SECTIDN, i Cl
= <t OF To M, 127 Mty EXCEPT TOP SECTIIN  — . = i o
l v es®o0e LYY *
- A oo’ "-.40
P %._. ., ) B
F & ., | e
’ * o.. .'. *" { " = o 8//
b 0ol A SRR 9 LI E | 10" MAX [ —=| |
;.G VOELKEL | ofn  oofasmes 2 BOTTON FIXTURE = = Ly
o 133174 £ by Jbhn P-1/4" X 6-3/8" X 22GA INTERNAL STEEL BACKER N N :
13 Uoenee®: é" ristian cvbtanyoskebyie 1 TS PLATE (EACH CENTER HINGE LOCATION) 182" MAX DOOR WIDTH AND 240" MAX DOOR HEIGHT VALL ANCLE ANCHIR SPACING
WK/ CENSE S PR
‘SSSION.KL e Foelkel 1efozs s ONLESS THERWISE SPECIFIED APPROVALS _ DATE
\ e THRD MELE PRLECTIN TOLERANCES: DRAWN £ CONRAD _B/28/18 PENSACDLA, FLORIDA
AN INTERPRET DIMS & TOLS e lepll AL
ANGLE \ @g /ELELR SISMMSE AYRléim “XXXXX - 1813 QEEEEIVAELD - - DESCR»}IPNFLDD% MODELS 4600/4650/6600/8300/
‘ -t - A
o LRI VL P RETAINER /EBATCRKMK _ INCHES ANGULAR = +5° - B300/8650/5150/5200/ THSLS/ THSPS, +46/-52PSF
3le N NEW WARRINGTON ROAD, UNIT 14 VEATHERSEAL : D0 NOT SCALE HOLES: FINESH DADE COUNTY, 162" MAX VIDTH
- PENSACOLA, FL — 3 TRACK - A DIVISION OF OVERHEAD | ) ,
: / (ASTRAGAL) DOOR CORP DINS CIRCLED WITH SYMBOL © CINSPLIBNY o8 823l = +004/-003 WINDLOAD SPECIFICATION — [SIZE[DWG NI REV
L PE Beeey 1A PE 13314 SECTION C-C 3395 ADDISIN DRIVE ARE CRITICAL 10 GUALITY DESIGN | 82310300 = +006/-003 OPTION CODE 2351 D D-363476 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED DMLY FIR SALE 1+ 4 T PENSACILA, FLIRIDA 32514 | FEATURES & MUST MEET APPLICABLE oy e SRy GOV ERNED B30 CA DATABASE
VERIFICATION OF VINDLOAD CONSTRUCTION DETAILS, SCHE T4 (850)-474-9890 IN-PROCESS INSPECTION STANDARDS, | SCALE 112 | UDM = EA | SHEET 1 OF 5

1


chris
Texas


[l

o«

5 4

2 1

OR BETTER
5/16" X 1-5/8" LAG SCREW \
INTO MIN 2 X 6 # 3 SP (G=059)

ELEVATION ON SHEET 1 FIR

GLASS BITE 0 5”

EXTERIOR FRAME
6063-T6 ALUMINUM

DOOR SECTION

ﬁ?ﬁ” EDGE DISTANCE

3/8" X 3" LAG SCREW, WITH I-
1/8" WASHER, MAX. OF 16" OC,
MIN. 2-3/4" EDGE DISTANCE

e X6#3SP G0
R B

ETTER~

WOOD MOUNTED TO # 3 SOUTHERN PINE SUBSTRATE

¢ X6 #3SP (=055

R BETTER. (SEE DOOR

—29t1" EDGE DISTANCE

13 GA CONT,

WALL ANGLE—"

HOLE LOCATIONS)

6 GA JANB
i

MOUNTING T0 WOOD
JAMB DETAIL

TRACK CLIP —

L /420 X 918"

TRACK BOLT AND //////////
1/4-20 HEX NUT

DAYLIGHT DPENING
/ SEE TABLE
1/4* POLYCARBONATE

/ INTERIOR FRANE

6063-T6 ALUMINUM

/ \#8 X 1" SHEETMETAL SCREW

3/8" DIA, SIMPSON TITEN HD
FASTENER, MAX. OF 12 OC, 2-3/4
MIN. EMBED INTO MIN. 1500 PST GROUT
FILLED CMU, MIN. 4" EDGE DISTANCE

—4" EDGE DISTANCE

. 7

///,)\, ),

1-1/8" 0D. WASHER ——

WOOD MOUNTED TO GROUT FILLED MASONRY
BLOCK DETAIL

3/3¢ =12

MIN 3/16" THICK STEEL
FOR MOUNTING

==——1PTIONAL: WALL ANGLE MAY BE

ATTACHED TO SUPPORTING STEEL
WITH MIN. (D 1/4 - 14 X 1" SELF
DRILLING SCREW WITH 1" TID. WASHER,
IN LTFU OF WELDING, (SEE DOOR
ELEVATION DN SHEET 1 FOR HOLE

z 7

| DISTANCE

/\

ANCHER

3/8" DIA HILTI KWIK BOLT 3, EXPANSION
ANCHOR, 2-1/2" MIN, EMBED, MIN. 4" EDGE

LOCATIONS)

MOUNTING 1O STEEL
JAME DETAIL

INTERNAL STEEL BACKER PLATE

ADHERED 10 THE INTERIOR OF
THE SECTION BACKER SKIN

1" 0D WASHER EC
MOUNTING TO GROUT FILLED MASONRY
BLOCK DETAIL

SECTION E-E
SCALE 1+ 4

7/16" DIA. STEMS TOP
AND BOTTOM ROLLERS

3 GA ROLLER SLIDE ATTACHED
T0 TOP FIXTURE WITH 5/16" - 18
BOLT AND NUT IN CENTER SLOT

T T2 X6 4 3 P (=059 R BETTER—— V

——3" EDGE DISTANCE

——3/8" DIA, SIMPSON TITEN HD FASTENER, MAX. OF

18" 0C, 2-3/4" MIN. EMBED INTO MIN, 2000 PSI
CONCRETE, MIN. 3" EDGE DISTANCE

TT—1-1/8* DD VASHER

WOOD MOUNTED 10 2000 PSI

CONCRETE DETAIL

ﬁﬂ EDGE DISTANCE

“—EDGE DISTANCE
J ANCHOR OPTIONS;

1) 3/8" DIA, SIMPSON TITEN HD FASTENER, 2-3/4
MIN. EMBED INTO MIN. 2000 PST CONCRETE, MIN.

3" EDGE DISTANCE

) 3/8" DIA HILTT KWIK BOLT 3, EXPANSION
ANCHOR, -1/ MIN, EMBED, MIN. 4" EDGE
DISTANCE

37 3/8" DIA. POWER LOK/BOLT, EXPANSION
ANCHOR, 1-5/8" MIN, EMBED, MIN. 4" EDGE

*(SEE DUOR ELEVATION ON
SHEET 1 FOR HOLE LOCATIONS)

INTERNAL STEEL BACKER PLATE
ADHERED TO THE INTERIOR OF
THE SECTION BACKER SKIN

LR DISTANCE

[ 0.D. WASHER

*(SEE DOOR ELEVATION ON
SHEET 1 FOR HOLE LOCATIONS)

MOUNTING TO 2000 PSI
CONCRETE DETAIL

11 GA MIN. WIDE BODY END HINGES

ATTACHED WITH (6) 1/4-14x7/8"
SELF DRILLING CRIMPTITE SCREWS
(2 OF WHICH ARE IN-BOARD

2" R 3" ROLLER WITH /7/16" DIA. 1144
WL SHAFT

VINDOW DETAIL PUSH NUT PUSH NUT REQUIRED AT EACH ROLLER
— LOCATION. 174 MAY BETWEEN PUSH NUT
SECTION F-F AND BRACKET OR HINGE DETAIL 1
SCALE 1+ 4 SCALE 1+ 4
TOP FIXTURE *L* REINFORCING 4 STRUT
ANGLE BRACKET 13 GA BOTTOM FIXTURE
ATTACHED 10 SECTION WITH 6-1/0
(4) SCREWS 1/4 = 14 X 7/8" SELF / D \
DRILLING CRIMPTITE SCREWS. | 1
I T e ° 12 GA EXTENSION BRACKET ATTACHED o S
SO, THE SECTION BACKER SKIN g VITH ) 174 - 148 778" SELE TR o A e
Sl Iey Wy 0 CRIMPTITE SCREVS (2) OF WHICH ARE -
Zie e " - 0 USED TO ATTACHED STRUT 6-1/¢
;’ * ﬁ R o 7/16" DIA, STENS TP AND 4 STRUT
;**'; INTERNAL STEEL BACKER PLATE 5 SLTTON ROLLERS
4 J.C.VOELKEL ¢ AHERED 10 T TR OF 14 G CINTER HINE ATTACHED PUSH NUT
'-uun.. ---------------------- :- ..-I \/”TH ( 1/4 14>< 7/81/ SELF WEATHERSEAL DETAIL L
s 133174 & 2z DRILLING CRIMPTITE SCREWS - RTRAEALS SCALE 1+ 4
" O'Qé‘. <{CENS?’.0 \é'f O SCALE 1+ 4
\ 5"25-----‘;s53.=- UNLESS OTHERWISE SPECIFIED APPROVALS _ TATE
W\ QNAL S THRD HELE PROECTON INTERPRET DIVS & TOLS TOLERANCES: TRAVY [ CONRAD _B/28/T8 PENSACOLA, FLORIDA
M @% PER ASME V145N Lot e
=103 - — DESCRIPTION
J. CHRISTIAN VOELKEL, PE ALL DIMS ARE IN 0 = .01 MATERIAL - WINDLOAD MODELS 4600/4650/6600/8300/
312 N NEW WARRINGTIN ROAD, UNIT 14 INCHES ANGULAR = +5° INSH - 8300/8630/5150/5200/ TNSL5/THS2S, +46/-52PSF
PENSACOLA. FL ' A DIVISIIN OF DVERHEAD DO NOT SCALE HOLES: DADE COUNTY, 182" MAX WIDTH
FLPE gooon 1o PE 3L DOOR CORP DINS CIRCLED WITH SYMBOL * CINSP-IBNY @8537%%%% § 882; %8% WINDLOAD SPECIFICATION  |SIZE|DWG NI, REV
PROFESSIONAL ENGINEER'S SEAL PROVIDED DMLY FIR Sy PENSACDLA FLORIDA. 35514 ENTURES © MUST MECT APPLICARLE ) 090 = 4 e g LA §
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS, (850)-474-9890 IN-PROCESS INSPECTION STANDARDS, |ALL GEOMETRY GOVERVED DY 31 AU TRTABRSE SCALE | \ UM = EA \SHEET 2 0F S
8 T 7 T

.

ENG F.20.041D-(FORM REV A

5 f . 4

3

2

1


chris
Texas


8
|

NOTES: (UNLESS OTHERWISE SPECIFIED)

TRACK

TYPICAL TRACK AND JAMB

FASTENERS DETAIL

[3 A MIN
CONTINUOUS

WALL ANGLE e
R it oLt > @
WITH 1/4°-20 NUT {1 GA I TR N
SCHEDULE o
N
@ (@ 1/4 X 7/16 SEMI U
TUBULAR " RIVETS 2

TRACK

13 GA MIN
CONTINUOUS
WALL ANGLE

1/4"-20 TRACK
OR_CARRIAGE BOLT
WITH 1/4"-20 NUT

(@) 1/4-20x9/16"
TRACK BOLT AND
1/4-20 HEX NUT

TYPICAL TRACK CLIP

RIVETING DETAIL

T

[ @ 3}

TYPICAL TRACK CLIP
BOLTING DETAIL

DOOR HEIGHT

STANDARD LIFT
TRACK DETAIL

OPTIONAL WALL ANGLE TRACK

DETAIL M
SCALE 1+ 4

DOOR HEIGHT

TRACK DETAIL

SCALE 1

e O e
;ﬂ‘q;\r:.ﬂ' '-.:E?@ )
Z <t:; "ié!if’ .tithﬁ
g J.C.VOELKEL ¢

------------------------- :o..,
'¢' s 183174 &7
N LoENS RS
\ slo-- seoe E O
‘\\\\ﬁét~‘°

J. CHRISTIAN VOELKEL, PE

312 N NEW WARRINGTON ROAD, UNIT 1A

PENSACOLA, FL
FL PE 82229 TX PE 133174

PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS

C12

LOW HEADROOM
TRACK DETAIL

DOOR HEIGHT

DOOR HEIGHT

HIGH LIFT
TRACK DETAIL

12) SECTION DOORS WITH
23 4

NN

LOCATED AS SHOWN

(11) SECTION DOORS WITH
(@1) 4" 16 GA 80 KSI U- BARS

AN

16 GA 80 KSI U- BARS
D 3" 18 GA 80 KSI U- BARS

VERTICAL LIFT

TRACK DETAIL

.

13 GA MIN (D 3 18 GA 80 KSI U= BARS
TRACK CONTINUDUS J TRACK LOCATED AS SHOWN <
WALL ANGLE o
A1 GA MIN TRACK ALGA HIN (10) SECTION DOORS WITH
CLIP SEE SCHEDULE ® @%C%PU . (19) 4 1o GA 80 KSI U= BARS
LOCATED AS SHOWN
R CARRIACE BOLT NHA N a0 ek .
R g Al BN
o o e B g
\
TYPICAL _TRACK CLIP (8) SECTION DOORS WITH
WELDING DETAIL (15) 4" 16 GA 80 KSI U~ BARS
(1) 3 18 GA 80 KSI U= BARS
LOCATED A5 SHOWN ~
(7) SECTION DOORS WITH =
(13) 4" 16 GA 80 KSI U- BARS
(1) 3 18 GA 80 KSI U= BARS
LOCATED AS' SHIWN ~ ~ |
(6) SECTION DOORS VITH g
(1) 4716 GA 80 KSI U- BARS
(D 3* 18 GA 80 KST U- BARS
LOCATED AS SHOWN — ~_ L
(5) SECTION DOORS WITH 1=
(9) 4716 GA 80 KSI U~ BARS
() 3 18 GA 80 KSI U- BARS
LOCATED AS SHOWN ~ ~_ ‘ =
(4) SECTION DOORS WITH = P
() 4 16 GA 80 KSI U- BARS
(1) 3 18 GA 80 KSI U- BARS
LOCATED A SHOWN <" f@ s
= =
3" STRUT ATTACHED VITH 1/4-14x7/8" SELF - L L
DRILLING CRIMPTITE SCREWS. SEE E) I I
SHEET 5 FOR QUANTITY AND LOCATION = =
OF FASTENERS
DETAIL N
SCALE 1+ 4 g - -
i i g
= ]
4* STRUT ATTACHED WITH 1/4-14x7/8" E = =
SELF DRILLING CRINPTITE SCREWS SEE
SHEET 5 FOR QUANTITY AND LOCATION
OF FASTENERS [5,1 L: [:
® b ;
STRUT LOCATIONS
SCALE 120
ONLESS OTHERWISE SPECIFIED APPROVALS — TATE
HED ALE FROCTIN TOLERANCES: TRAVN E. CONRAD __B/25/18 PENSACOLA, FLORIDA
INTEPREPRREATSMDEIMYSM%MTDLS Tl Bl RN
@ =] Y= 403 APPROVET - —DESCRIPTION
ALL DIMS ARE IN X0 =0 MATERIAL - WINDLOAD MODELS 4600/4650/6600/8300/
INCHES ANGULAR = £.5° FINISH - 8900/8650/3150/5200/TM319/TMS2S, +46/-92PSH
DU NOT SCALE HOLES: DADE COUNTY, 182" MAX WIDTH
i DW%HHRDEDEFYERHEAD ¢0231 = +004/-003 WINDLDAD SPECIFICATION — [SIZE|DWG ND REV
DINS CIRCLED WITH SYMBOL ' <INSP-IBNY - ‘
PEN383A9C5DLAADMFSLDDNRI%E%ESM ARE CRITICAL TO QUALITY DESIGN @35} gggg *U%/ 003 OPTION CODE 2351 D D-363476 A
, FEATURES & MUST MEET APPLICABLE
(850)-474-9890 IN-PROCESS INSPECTION STANDARDS, |ALL GEDMETRY GMRNED BY 30 CAD DATABASE: SIALE | \ UDM = EA \SHEU 30F 5

ENG F20.041D-(FORM REV A

3 T

5 t

4 ‘ 3

2

1


chris
Texas


8 7

NOTES: (UNLESS OTHERWISE SPECIFIED)

|

I, FOR DIMENSIONS AND NOTE REFERENCES, REFER TO INDIVIDUAL DRAWINGS.

Lo - LENGTH = DOIR WIDTH -1
2,750 ‘ .
| T3750 r e R 1,800 L Lo T éﬂé — LENGTH = DDD\R \me - — a0 i
— I a1 2750 — L L .
r ‘ H ‘ 4175 SR s 2379
3675 | I L U 2250 4,000 — . i —
& O & Tl
| . 1290 U _ 5061
—I2500 T ——046 THICK
TOP FIXTURE  ASSY, BASE, T0P FIATIRE ' REINFIRCING AVGLE BRACKET RILLER CARRIER LR G0 b STRUT B T STUT PR L (LB
LA oA LA 80 KSI MIN. YIFTD STRENGTH, 4° X 16 GA 80 KSI NI VIELD STRENGTH, 3 X 18 GA
TOP_FIXTURE DETAILS STRUT DETAILS
— HIe — 3152 —

BOTTOM FIXTURE, BB-1?
13 0A

BOTTOM FIXTURE DETAILS

T
/U\ 3961

- &

. JV@‘UUO o

238

BRACKET, TOP RES, LHR
I GA

11 GA #1 END HINGE
14 GA CENTER HINGES

fa—

— =720

11 GA END HINGES

HINGE DETAILS

738

p==Y

— /30
—'D" REF

0000 ‘

/SECURED WITH (4) 605879-0002 SCREWS 1/4-20 X 5/8°

234 THROW

nggogoL Looo X 150° THICK

SIDE LOCK ASSY

LOCK DETAILS

N pA437

. ’m. 133174 ‘o g
Ll “4: ‘CENSF.. \V\:
W SIONAL e“
\\ TeeRet o
J. CHRISTIAN VOELKEL, PE
312 N NEW WARRINGTON RUAD, UNIT 1A
PENSACOLA, FL
FL PE 82229 TX PE 133174

PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR
VERIFICATION OF WINDLOAD CONSTRUCTION DETALLS,

RET, th IR — D437

1811 REF.

460 J NYLON TIRE

ROLLER ASSY, 2" WL 1144
(NYLON ROLLER)

T

.

2X 313 S?}Ug -
= Il -
9360 REF, —— 9000 REF, 1730
REF. 9433 REF,
1 Y ] - |
of | 1811 REF, i HB 2835 REF, 8072
| 940 | =
4604‘ STEEL TIR ‘7094‘ [: J o 91
y 3,790
RDLLESRTEA%Y‘RDBMEWRL) [144 ROLLER ASSY. 3* WL 1144
JAMB BRACKET o
b — L
@ (:} (a»)
T I
ROLLER STEM ASSY DETAILS BRACKET DETAILS FLAG ANGLE :
13 GA
UNLESS DTHERWISE SPECIFIED APPRUVALS — DATE
THIRD ANGLE: PROJECTION TOLERANCES: DRAWN E. CONRAD  8/728/18 PENSACOLA, FLORIDA
INTEPREPRREATSMDEIMYSM%PPLS B CHECKET 3 KORNESH
AL DIMS ARE IN X =103 APPROVED DESCRIPHDN
e = 0] MATERIAL WINDLOAD MODELS 4600/4650/6600/8300/
INCHES ANGULAR = +5° FINH 8500/8650/5150/5200/ TMI15/TMT2S, +46/-52PSF
DIVISIIN OF OVERHEAD D0 NOT SCALE HOLES: 951 = +004/-003 DADE_COUNTY, 182 MAX WIDTH
DOOR CORP DIMS CIRCLED WITH SYMBOL * <INSPIBNY p * WINDLOAD SPECIFICATION SIZEIDWG  NO. REV
PEN383AQC5DLAADMFSLDDNRI%E%ESM ARE CRITICAL TO QUALITY DESIGN Mg @@5588 *U%/ 903 OPTION CODE 2351 D D-363476 A
, FEATURES & MUST MEET APPLICABLE
(B50)-474-98%0 eRNCEss NSPECTIN STARDARDS  PLC GEOWETRY VAR BV CA TATABRSE STULE 1 | U= [SHET 4 0 S

8 ‘ 7
ENG F20041D-GFORM REV A

5 t

4

3

2

1


chris
Texas


8

NOTES: (UNLESS OTHERWISE SPECIFIED)

STRUT FASTENER LOCATIONS

SELF DRILLING SCREWS NOT REQUIRED AT THESE LOCATIONS FOR GLAZED SECTIONS.

SELF DRILLING SCREWS NOT %

REQUIRED AT THESE LOCATIONS
FOR GLAZED SECTIDNS.

=

()
: ."."f"'
J.C. VOELKEL 4

J. CHRISTIAN VOELKEL, PE
312 N NEW WARRINGTON ROAD, UNIT 1A
- PENSACOLA, FL
FL PE 82229 TX PL 133174

PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS,

"L a8,

STRUTS ATTACHED WITH (@) 1/4-14x7/8" SELF DRILLING
CRIMPTITE SCREWS AT EACH HINGE LOCATION AND AT EACH

ADDITIONAL LOCATION SHOWN ABOVE.

<=
iy

GLAZED SECTION

SELF DRILLING SCREWS NOT
REQUIRED AT THESE LOCATIONS
FOR GLAZED SECTIONS,

INTERMEDIATE UK
SUTTUM SECTION

ONLESS OTHERWISE SPECTFIED APPROVALS _ DAIL
THIRD ANGLE PROJECTION INTERPRET DIMS & TOLS TDLERANXCES: . %EQE/KNED [E] }EHSE?@DH 8/8?/18 PENSACOLA, FLORIDA
@_g PERASHE YL M “XX = f“U3 APPROVED T - DESCRIPTION
ALL DIMS ARE IN = 0 MATERIAL - WINDLOAD MODELS 4600/4650/6600/8300/
INCHES ANGULAR = £ 5¢ PN - 8500/8650/5150/5200/ THS15/THS2S, +46/-52PSF
A DIVISION OF DVERHEAD DO NOT SCALE HOLES: DADE COUNTY, 182" MAX WIDTH
DODR CORP DIMS CIRCLED WITH SYMBOL * <INSP-TBN) @851%%%% - i%%é?%%% WINDLOAD SPECIFICATION — [SIZE[DWG ND. REV
oENSACILA, FLIRIA 6514 | rontuins £ HUSt MhEF Pt eAE [ 300 = +06/-103 S D] R '
(850)-474-9890 IN-PROCESS INSPECTION STANDARDS, [ALL GEOMETRY GOVERNED BY 3D CAD DATABASE: SCALE 112 \ UDM = EA \SHEU 5 0F 5

8
ENG F20.041D-(FORM REV A

t

4 3

2

1


chris
Texas


	2311 363474-rA SH1
	2311 363474-rA SH2
	2311 363474-rA SH3
	2311 363474-rA SH4
	2341 363475-rA SH1
	2341 363475-rA SH2
	2341 363475-rA SH3
	2341 363475-rA SH4
	2351 363476-rA SH1
	2351 363476-rA SH2
	2351 363476-rA SH3
	2351 363476-rA SH4
	2351 363476-rA SH5

		2020-09-09T16:40:26-0500
	John Christian Voelkel




